Hoo7 A b (e 2GR i, 2 B $earge (GO

S < A

MEExK. 2%k (1) 7V FLD]
_ 3 =2 N

VR Y -y

DEE, ROMERD X,

8 45

(1) x4y (2) xy

(3) x*+y? (4) 2°+y°
RIEEX 2%t (2) 7U R LY

WOHERZEMT, (&5 5

(1) |x=1=2 (2) |x—2/<4

(3) lx+3=5

(4) |x+4]=5x

BIEEK. 2%k (3) 7V F &)
6x—4>3x+5
2x—1<x+a

2 2B D AN

HHETDH, ZDEE, Efa DLV ) DHEOHEPHAZRD X,

i IR X D £ 5 A
(8 )

[4)fmE (1) 7V hED]
wol JIEMTERELILDETO 0 ~ @ 25 1 oF o, 7

L, x, pIEERETD, BEZOATENY, ) (%2 5

0 “EAHEETHD O BELEHTH DB H5METIEARN

Q@ +HE&MTH DBV ELETIERN

@ MEEHTHHRFRETHRWD

(1) x=21Fx2=5x+6=0 CTHBH=HD

(2) xy=113x=1THoH7=DD

(3) WA ABCD NONLIETH D Z &1, WA ABCD NIEAFET
HBHT=HD

<MREA>

@

Gl2kEE (1) 7V FLD]
b DR E x BT L, y TN —2 72T A TR E LT,
THIZBI L CHBEI L= & 25, ik y=—x2—3x+3 L7z,
b & OO TR A R X (8 45)

[6][2%kPFE% (1) 7V FXD]
i y=x2—(k+2)x+2k 25 x 10> S0 RABSDORE SN 4 T
D EE, BEEOMERD X, 8 m)




[FJ[2kBE (2) 7V FLD] B ZKEE (3) 7V F L0
a lTEBET 5, Bl y=2x%+4ax (0<x<2) 12OV T (4% 8 ) Al TEDOTEHE T 5, 0<x<a \ZHB1T D f(x) =x2—4x+5
(1) FKfEzE R X, [ZONT (% 8 45
(1) FKfEZRD X,

(2) m/MEZRD L,

[o] 2Bk (4) 7 U R LV
2GR 22 —2a—Nx+2a =0 PROKEOREZ D& X, T
a DIEOFPHZ KD X, (10 #2)
(1) EHIZ2 XV KRENVWERD 2OD%EHD

(2) FMEZRD L,

(2) 2XVREWEL 2 X0/ hSWEEZ 1 ST oD




